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QUESTION 1

Which IBM Cloud network service offers multi-tenant connections to the IBM Cloud infrastructure through the local IBM
Cloud datacenter? 

A. Direct Link Network 

B. Direct Link Exchange 

C. Direct Link Contact 

D. Direct Link Dedicated 

Correct Answer: B 

 

QUESTION 2

What are two things to consider when choosing where to deploy Microservices? 

A. Microservices core functions content catalog must reside in all data centers where Microservices run 

B. The region where any personal data resides 

C. Microservice workloads should be co-located where their data resides to reduce latency between the microservice
and data persistence store 

D. Microservices on the same host must be part of one deployment 

E. Microservice workloads, when possible, should be co-located where backups reside to reduce latency and ensure
resiliency 

Correct Answer: AC 

 

QUESTION 3

What are two services or capabilities for developing and deploying microservices in IBM Cloud? 

A. Polyglot programming and persistent data store 

B. Tools for testing and rapid deployment 

C. Services to analyze and visualize data 

D. Graphical tools for modeling 

E. Backup and monitoring tools 

Correct Answer: AB 
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QUESTION 4

Machine Learning uses which approach for learning through trial and error? 

A. Probabilistic Learning 

B. Deductive Learning 

C. Iterative Learning 

D. Reinforcement Learning 

Correct Answer: D 

 

QUESTION 5

The image below shows which VMware solution for an integrated hybrid cloud infrastructure platform? 

A. VMware Cloud Foundations 

B. VMware Software-Defined Data Center 

C. VMware Virtualization 

D. VMware vRealize 

Correct Answer: D 
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